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BEpE | BT [0.2KWIL—F[FV—RE-% %EET—E = 1F 2,100 2,100 2,100 1,900
T—hEE [0.00kWIL—FHFT—FE—% 58 () 2F 1,700 2,000 2,300 2,000
% i |ACRURN ZESH: |2.2KW(5.0KVA) 1F 1,700 2.200 2.300 2.200
" [AC100V E18 50/60Hz [1.0kW (1.0kVA) EENAERS LK (mm) 5,650 6,000 6,250 6,000
BERE Y FINRILEEA = & £ Lt (mm) 5,200 5,550 5,800 5,550
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LEXEL PUZZLE 30

SRR L7tI)LIKXIL 30 TiER
WERE [747—O0—"7A= S M L Mm MH
5 = [ HEET [0——Fr—AR 2F (m) 4,700 5,050 5,300 5,050 5,050
BX B T—rEE |71/ —0—THFRK 221 (mm) 1,700 1,850 1,950 1,850 1,850
¥ B WIRE [22kWIL—FHET—FE—% = 3F 2,100 2,100 2,100 1,550 2,100
BENHE | i ERTT [0.2kWIL—FMEV—RE-S PIREEE | 75 (mm) 2F 1,550 1,550 1,550 1,550 2,100
TF—RRE [00KWTL—FHET—FE=5| |# = 1F 2,100 2,100 2,100 1,900 2,100
— 2.2kW (5.0kVA) = 3F2F 1,700 2,000 2,300 2,000 2,000
g | SR00220V =M 15 diw (6.0kVA) E2le) | —5F 1700 | 2200 | 2300 | 2200 | 2.200
= 2.8kW (7.0kVA) EREAERS Lk (mm)| 6,200 6,550 6,800 6,550 6,550
AC100V E47 50/60Hz | 1.0kW (1.0kVA) s g [ENABOE:L (m)| 5,600 5,950 6,200 5,950 5,950
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LR L2EIVIKXIL 40 TiER
WERE [747—O0—"7A= S M L Mm MH
5 [ BEET [O—5—Fz—VAR £F () 4,700 5,050 5,300 5,050 5,050
BX B T—rEE |71/ —0—THFRK 221 (mm) 1,700 1,850 1,950 1,850 1,850
® B EFE [2.2kWIL—FHFTP—RE—% X =& 4F 2,100 2,100 2,100 1,550 2,100
EEIE | M AT O.2kW7p—=F11=\£V— RE=% ﬂﬁb% 25 (mm) 3F 1,550 1,550 1,550 1,550 2,100
bR QNI —FHFY—FE=5| || =7 2F 1,550 1,550 1,550 1,550 2,100
2.2kW (5.0kVA) 1F 2,100 2,100 2,100 1,900 2,100
— 2.4kW (6.0kVA) = 4F,3F,2F 1,700 2,000 2,300 2,000 2,000
s g |oe00220V =M 15 0 (7.5KVA) E2le) | 9F 1700 | 2200 | 2300 | 2,200 | 2.200
= 3.6KW(9.0kVA) ERSEES Lk (m) | 6,200 6,550 6,800 6,550 6,550
4.2kW (10.5kVA) HEAR—ZH0E Lt (mm) [ 5,600 5,950 6,200 5,950 5,950
AC100V E48 50/60Hz _ [1.0kKW (1.0kVA) # B|&E B O BP ()| 2300 2,400 2,500 2,400 2,400
BIEAE Sy FINRILIGEEA K [ E 8 A 0 Wk(mm) [PxiE%+600|PxiE%5-+600| PxiE#-+600|PxiE£8-+600| Px:E#4+600
28— b4 | 3@— 0B | 4&@-13& = B A & :Ht(mk| 7,760 7.760 7,760 7,010 8,860
d1=yh| 5E—-17& 6E—21a | 7E-25& B & 5 SHkmk| 6,060 6,060 6,060 5,860 7,160
8E—29& FJ”U%B%UK%EEEZHC(M)* 6,§50 6,4/50 6,4/50 6,550 7,5/50
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B | 2F [ /t&dm] (7)) | 186~142/18 | 18~143/18 | 18~155/18 | 18~139/18 | 18~158/18
; TF[REH /f&#h] () | 18/18 18/18 18/18 18/18 18/18
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LEXEL PUZZLE 50

IREELR L27tILIKXIL 50 TiER
WESEE |[714v—0—"7A S M L Mm M8
A OR|[ ME#ET |[O—F—F—VAR 2 (mm) 4,700 5,050 5,300 5,050 5,050
) T—hEE |[714v—0—TAHH 218 (mm) 1,700 1,850 1,950 1,850 1,850
% B W EFE [22KWIL—FFT7—RE—% X & 5F 2,100 2,100 2,100 1,550 2,100
BENME | i BT [0.2kKWIL—FNFV—RE-F ﬂﬁb% 25 (mm) 4F 1,550 1,550 1,550 1,550 1,800
T—hERE [0.0KWIL—FFT7—RE-% = ET—E = 2~3F 1,550 1,550 1,550 1,550 1,550
2.2kW (5.0kVA) 1F 2,100 2,100 2,100 1,900 2,100
2.4KW (6.0kVA) =8 (ko) 2~5F 1,700 2,000 2,300 2,000 2,000
AC200/220V =48 |3.2kW(8.0kVA) = 1F 1,700 2,200 2,300 2,200 2,200
& R |50/60Hz 4.0kW (10.0kVA) ERARES LK (m)| 6,200 6,550 6,800 6,550 6,550
4.8kW (12.0kVA) BEAR—ZA0E Lt (mm)| 5,600 5,950 6,200 5,950 5,950
5.6kW (14.0kVA) #® B|&E 0 BE:P (| 2,300 2,400 2,500 2,400 2,400
AC100V #18 50/60Hz [1.0kW (1.0kVA) K [ E B S & Whk(nm) [Px:EE8+600|Px:E#2+600|Px 2= %8-+600| Px &= £5-+600| Pxi=#-+600
RIEAE FyFINRILFEA # T8 K & S:Htmx| 9,410 9,410 9,410 8,660 9,660
2wk 2&—68 [3E—115 [4HE—16A [5E-216 B & & StHkmmkx| 7,710 7,710 7,710 7,510 7,960
— 6:E—264 | 78314 | 85364 | AIERHIBR =S He(m)k | 9,110 9,110 9,110 8,910 9,360
MAEICHRWARY IR EE LTI BENEDE I, RS A/B(ke) 3,300./6,600 | 3,650./7,300 | 4,050./°8,000 | 3,650,/7,300 | 3,650,/7,300
ORI 5 X MmO TS a3 Sk e £ C/D(ke) 700/510 | 760/550 | 790/570 | 760/550 | 760,/550
KEIDE T EAAS0MMEL D E T, BE (R F#h] (1) | 18~226/18 | 18~227/18 | 186~244/18 | 18~223/18 | 18~233/18
* AF [/ 1&dm] (7)) | 18~206/18 | 18~207/18 | 18~221/18 | 18~203/18 | 18~210/18
B 3F [t /1&#m] (7)) | 18~184/18 | 18~185/18 | 18~198/18 | 18~181/18 | 18~188/18
: 2F [P /#&#K) (#2) | 18~162/18 | 18~163/18 | 18~175/18 | 18~159/18 | 18~166/18
LZEILICZ)L 50 SEEE 1F[WE /##m] (&) | 18/18 | 18/18 | 18/18 | 18/18 | 18/18
MEEMEOE EBEMOTEICEDET,
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